|-VALO FOLDING POLE IP30T00

Installation instructions

v
/
/

EN
Fi

SV
DE
FR
PL

Mount the lower part with fixings to the installation point I
Kiinnita tolpan alaosa kiinnikkeilla asennuskohtaan 1
Montera den nedre delen i installationspunkten med hjalp av fastanordningarna P | =
Montieren Sie das Unterteil mit Befestigungsmitteln an der Einbaustelle TN
Fixer la partie inférieure au point dinstallation a l'aide de fixations \ I
Zamontuj dolng czes¢ za pomocg mocowan do punktu instalacji

MIDDLE BRACKET: (9 g

FIXING LOOP M10X150 1PC A 2
NUT M10 DIN934 6 PCS qUs

EN
Fl

SV
OE
FR
PL

Y

/
\

Connect the upper and lower parts at the hinge hole
Yhdistd yla- ja alaosa saranan reikaan o
Koppla ihop den 6vre och den nedre delen i gdngjarnshalet

Verbinden Sie Ober- und Unterteil am Scharnierloch

Relier les parties supérieure et inférieure au niveau du trou de la charniere
Potgcz gorng i dolng czes$¢ w otworze zawiasu &

HEX BOLT M10X80 DIN933
NUT M10 DIN934

Item No. 28067 I-Valo Oy, Tehtaantie 3b, 14500 [ITTALA, FINLAND | Tel. +358(0)10 501 3000, info@i-vala.com, i-valo.com

V.01.24




EN
Fi

SV
DE
FR
PL

EN Install the luminaire with the mounting bracket 6061(ordered separately)
FI Kiinnitd valaisin asennuskiinnikkeelld 6061 (tilataan erikseen)
SV Installera armaturen med monteringsfaste 6061 (bestalls separat)

DE Montieren Sie die Leuchte mit einem Montagebiigel 6061(separat zu bestellen)

FR Installer le luminaire a I'aide d'un support de montage 6061(commandé séparément)

PL Zamontuj oprawe os$wietleniowa za pomoca wspornika montazowego 6061(zamawiany oddzielnie)

HEX BOLT M10x80 DIN933 2 pcs
SPACER M10 DIN125 2pcs
NUT M10 DIN934 2pcs

\_I

Lock the pole vertically from the locking points
Lukitse pylvas pystysuoraan lukituspisteista
Las stangen vertikalt fran laspunkterna

Verriegeln Sie den Mast vertikal an den Verriegelungspunkten
Verrouiller la tige verticalement a partir des points de verrouillage

Zablokuj drazek pionowo w punktach blokady

E==—— A"

HEX BOLT M10x80 DIN933 2 pcs

SPACER M10 DIN125
NUT M10 DIN934

Item No. 28067

2 pcs
2 pcs

V.01.24

N

LOCKING POINT 2

o
-

LOCKING POINT 1
-

EN

Fi

SV

DE

FR

PL

WARNING!

When opening locking points 1and 2 for
maintenance, make sure that the luminaire
mounted on the pole does not fall down
freely.

Kun avaat lukituspistetta 1ja 2 huoltoa
varten, varo ettei pylvddaseen asennettu
valaisin paase vapaasti romahtamaan alas.

Nar laspunkterna 1och 2 6ppnas for
underhall, se till att den fasta armaturen inte
faller ner fritt.

Beim Offnen der Verriegelungspunkte 1

und 2 zu Wartungszwecken ist darauf zu
achten, dass die feststehende Leuchte nicht
herunterfallt.

Lors de louverture des points de verrouillage
1et 2 pour lentretien, veiller a ce que le
luminaire fixe ne tombe pas.

Podczas otwierania punktow blokady
112 w celu przeprowadzenia konserwacji
nalezy uwazac, aby zamocowana oprawa nie
opadta swobodnie.

I-Valo Oy, Tehtaantie 3b, 14500 [ITTALA, FINLAND | Tel. +358(0)10 501 3000, info@i-vala.com, i-valo.com 2



